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QUESTION NO: 1

Which subset of Structured Query Language (SQL) is used to limit access to a database or its data?

A. Data Markup Language

B. Data Control Language

C. Data Formatting Language

D. Data Manipulation Language

ANSWER: B 

QUESTION NO: 2

What is the highest normal form of the relation(s) shown in the exhibit?

A. Second normal form

B. First normal form

C. Boyce-Codd normal form

D. Third normal form

E. STUDENT( Student_Number: integer NOT NULL Name:
variable length character string length 20 NOT NULL)
Primary Key Student_Number CLASS( Class_Num: integer
NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num
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F. STUDENT( Student_Number: integer NOT NULL Name: 
variable length character string length 20 NOT NULL) 
Primary Key Student_Number CLASS( Class_Num: integer
NOT NULL Class_Name: integer NOT NULL) Primary Key
Class_Num Foreign Key Class_Num References STUDENT

G. STUDENT( Student_Number: integer NOT NULL Name:
variable length character string length 20 NOT NULL)
Primary Key StudenMMumber STU_CLASS(
Student_Number: integer NOT NULL Class_Num: integer
NOT NULL) Primary Key Student_Number CLASS(
Class_Num: integer NOT NULL Class_Name: integer NOT
NULL) Primary Key Class_Num

ANSWER: D 

QUESTION NO: 3

Consider the following SQL statement and the Orders relation shown in the exhibit:

How many records should be returned?

A. Two records

B. Three records

C. Four records

D. Five records

ANSWER: C 
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QUESTION NO: 4

In which phase of database design do you identify entities, attribute domains, and relationships?

A. Logical

B. Physical

C. Application

D. Conceptual

ANSWER: D 

QUESTION NO: 5

The exhibit shows a table called Activity Relation that relates a unique student identification number with a sports activity and 
a fee for participating in that activity. A student can participate in only one activity. The key for the relation is Student_ID. 
What consequence would occur if the tuple for Student_ID 1001 were removed?

A. An update anomaly would occur.

B. An insertion anomaly would occur.

C. A deletion anomaly would occur.

D. Both an insertion anomaly and a deletion anomaly would occur.

ANSWER: C 

QUESTION NO: 6

Consider the symbols shown in the exhibit. Which of the following correctly identifies these symbols when used in an entity-
relationship (ER) diagram?
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A. 1 = attribute, 2 = entity, 3 = relationship

B. 1 = entity, 2 = relationship, 3 = attribute

C. 1 = relationship, 2 = entity, 3 = attribute

D. 1 = relationship, 2 = attribute, 3 = entity

ANSWER: C 

QUESTION NO: 7

Which component in the three-tier database architecture handles the data-processing and business logic?

A. Thin client

B. Fat client

C. Database server

D. Application server

ANSWER: D 

QUESTION NO: 8

What is the highest normal form of the relation(s) shown in the exhibit?
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A. Third normal form

B. Second normal form

C. No normal form

D. First normal form

ANSWER: D 

QUESTION NO: 9

What is a data dictionary?

A. A system catalog containing user data

B. An area of the database that is directly accessible by the user

C. Data that is stored in tables and is only accessible by the DBMS

D. Metadata that is stored in tables and is only accessible by the DBMS

ANSWER: D 

QUESTION NO: 10

Your enterprise must decide whether to use a database management system. Which of the following best describes the 
functionality of a DBMS?

A. A DBMS provides the ability to control data access and limit the number of users at one time.

B. A DBMS provides the ability to maintain databases while providing increased security for the database.

C. A DBMS allows users to access the database while allowing the database administrator to define views particular to 
individual sets of users.

D. A DBMS provides the ability to define, create and maintain databases while providing controlled access to databases.

ANSWER: D 
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